
ROOFSCREEN SPECIFICATIONS:

PANEL:  7.2 RIB, 24 GA., ORIENT HORIZONTAL, FASTEN TO VERTICAL TUBE W/ #12-14 X 1" LONG T/3 'TEK'

SCREW -ROOFSCREEN P/N "S16" AT 7.2" OC AND AT EACH DOWN FLUTE AND PER MANF SPECS.

TUBE STEEL:  ASTM A500.

HSS 2.500 OD X .065 (16 GA), FY=40 ksi

HSS 1.510 OD X .065 (16 GA), FY=40 ksi

PROPRIETARY CONNECTORS:  ASTM A1008.  WELDING SHALL BE DONE BY WELDERS CERTIFIED FOR THE WELDS

TO BE MADE USING E70XX ELECTRODES IN CONFORMANCE WITH THE REQUIREMENTS OF AISC SPECS AND

CODE OF STANDARD PRACTICE AND AWS D1.1. SEE FABRICATION DRAWINGS BELOW.

CRIMPED END:  (ALTERNATE TO END CONNECTOR)

CONN TO FIELD CONN W/ 

1

2

" DIA ANSI 18-8 STAINLESS STEEL BOLT.

END CONNECTOR:

CONN TO TUBE W/ #12-14 X 1" LONG T/3 'TEK" SCREWS- ROOFSCREEN P/N "S10", (2) EA SIDE TYP,

(4) TOTAL.

CONN TO BASE CONN (OR FIELD CONN) W/ 

1

2

" DIA ANSI 18-8 STAINLESS STEEL BOLT.

FIELD CONNECTOR:

CONN TO TUBE W/ #12-14 X 1" LONG T/3 'TEK" SCREWS- ROOFSCREEN P/N "S10", (2) EA SIDE TYP,

(4) TOTAL.

BASE CONNECTOR:

CONN TO TUBE W/ #12-14 X 1" LONG T/3 'TEK" SCREWS- ROOFSCREEN P/N "S10", (2) EA SIDE TYP,

(4) TOTAL. CLAMP TIGHT W/ 

5

16

" DIA ANSI 18-8 STAINLESS STEEL BOLT, (2) TOTAL.

BASE CAP:

CONN TO BASE CONNECTOR 

1

2

" DIA GALVANIZED A325 BOLT W/ LOAD INDICATING WASHER.

CONN TO BASE SUPPORT 

5

16

" DIA ANSI 18-8 STAINLESS STEEL BOLT- ROOFSCREEN P/N "B11", (8)

TOTAL.

BASE SUPPORT:  9" HIGH

ALIGN BASE SUPPORT OVER NEW BLOCKING OR EXISTING FRAMING BELOW.  SEE MIN BLOCKING OR

EXISTING FRAMING REQUIREMENTS BELOW.  CUSTOMER TO SUPPLY NEW BLOCKING WHEN SUPPORT

IS NOT LOCATED DIRECTLY OVER EXISTING FRAMING OF SUFFICIENT THICKNESS OR QUALITY.

BLOCKING:

MIN 4X10 NEW BLOCKING OR EXISTING FRAMING MEMBER, DOUGLAS FIR #2 OR BETTER.  DESIGN

AND SUPPLY OF BLOCKING AND BLOCKING CONNECTION TO EXISTING FRAMING SHALL BE PROVIDED

BY OTHERS.

ROOF ATTACHMENT:

CONN BASE SUPPORT TO BLOCKING OR EXISTING FRAMING WITH 3/8" X 6" LAG SCREWS

-ROOFSCREEN P/N "B14", (2) TOTAL PER BASE SUPPORT.  SEE FRAME DETAIL FOR CONNECTOR EDGE

DISTANCE AND END DISTANCE REQUIREMENTS.

ROOFSCREEN BASE REACTIONS:

EVALUATION OF THE ROOF SHEATHING, BLOCKING, BLOCKING CONNECTION, ROOF FRAMING,  AND BUILDING

FOR NEW MECHANICAL EQUIPMENT AND SCREEN LOADS SHALL BE PERFORMED BY OTHERS.  ANALYSIS SHALL

BE DONE BY A LICENSED PROFESSIONAL ENGINEER.  ROOFSCREEN BASE REACTIONS PROVIDED ARE BASED ON

THE DESIGN CRITERIA ON SHEET RS-0. THE MAXIMUM SERVICE REACTIONS AT THE BASES ARE AS FOLLOWS:

WIND:

Rx=+/-145 lbs AND (Ry=-322 lbs TENSION OR Ry=320 lbs COMPRESSION)

Rx=+/-285 lbs AND (Ry=-320 lbs TENSION OR Ry=322 lbs COMPRESSION)

DEAD:

Ry = 78 lbs COMPRESSION

Ry = 0 lbs COMPRESSION

EXISTING ROOF FRAMING:  1/2" PLYWOOD OVER 2X10 AT 12" OC. (FIELD VERIFY 1/2" PLYWOOD 

THICKNESS.)

MAXIMUM HEIGHT REFERS TO MAXIMUM HEIGHT ABOVE AVERAGE LEVEL OF ADJOINING GROUND ADJACENT TO

THE BUILDINGS.

ALL OTHER ARRANGEMENTS REQUIRE ENGINEER'S APPROVAL.

P

T10

T13

CR

C28

C12

C11

C10

BS11

N1

N2

R

N1

N2

BLK

ATCH

BS11

C10

C11

C28

4'-0"+/-3"

5
'
-
0
"
+

/
-
 
M

A
X
 
F
R
A
M

E
 
H

E
I
G

H
T

4
'
-
0
"
+

/
-
 
M

A
X
 
P
A
N

E
L
 
H

E
I
G

H
T

TUBE FRAME AT 8'-0" OC MAX

SCALE:  1" = 1'-0"

P

C12

CR

R

T13

T10

6
"

N1 N2

1

ATCH

-Ry

2

1

2
"
 
C
O

U
N

T
E
R
-

F
L
A
S
H

I
N

G

2
"
 
M

A
X
 
I
N

S
U

L
A
T
I
O

N
,
 
V
I
F

7
"
 
M

I
N

 
F
L
A
S
H

I
N

G

O
R
 
A
S
 
R
E
Q

'
D

 
B
Y
 
O

T
H

E
R
S

TYP

TYP

TYP

TYP

TYP

TYP

Rx

1'-6"+/-3"

E
X
I
S
T
I
N

G
 
R
O

O
F
 
F
R
A
M

I
N

G

E
V
A
L
U

A
T
I
O

N
 
B
Y
 
O

T
H

E
R
S

TYP

BLK

T10

-Ry

Rx

3" MIN

END DIST,

TYP EA END

1 1/2" MIN

EDGE DIST,

TYP EA END

BLK

 UNLESS  OTHERWISE  SPECIFIED  ALL

  DIMS   ARE  IN  INCHES  AND  INCLUDE

  APPLIED  FINISH  TOLERANCES

1plc        2plc      3plc    ∠

CRIMPED END OF TUBE AT UPHILL SIDE

T13 END BRACE TUBE, FIELD

MEASURE AND CUT TO LENGTH

2ND FRAME FROM END

A14 ASM

END FRAME

A36 ASM

(BEND C32 PART TO

APPROPRIATE ANGLE)

BRACE TUBE IS ORIENTED

TO RESISTLOADING IN

THIS DIRECTION

VERTICAL TUBE BROKEN

FOR CLARITY

CONN A36 TO BASE SUPPORT WITH

(4) 

5

16

" DIA ANSI 18-8 STAINLESS STEEL BOLT- ROOFSCREEN P/N "B11",

USE SAME BOLTS THAT CONNECT BASE CAP TO BASE SUPPORT

#12-14 X 1" LONG

T/3 'TEK" SCREWS

(P/N "S10") 

  UNLESS  OTHERWISE  SPECIFIED  ALL  

  DIMS   ARE  IN  INCHES  AND  INCLUDE  

  APPLIED  FINISH  TOLERANCES  

1plc     2plc     3plc      

  UNLESS  OTHERWISE  SPECIFIED  ALL  

  DIMS   ARE  IN  INCHES  AND  INCLUDE  

  APPLIED  FINISH  TOLERANCES  

1plc     2plc     3plc      

ARS-103

CHECKED BY:

DRAWN BY:  

SHEET

D
E

S
C

R
I
P

T
I
O

N

43210

R
E

V
.

B
Y

D
A

T
E

JOB NUM: 

N
O

R
T

H
B

A
Y

 
M

E
D

I
C

A
L
 
C

E
N

T
E

R
 
P

H
A

R
M

A
C

Y

1
8

0
0

 
P

E
N

N
S

Y
L

V
A

N
I
A

 
A

V
E

.
,
 
F

A
I
R

F
I
E

L
D

,
 
C

A
,
 
9
4

5
3
3

T
h

i
s
 
d

r
a

w
i
n

g
 
w

a
s
 
p

r
e

p
a

r
e

d
 
b

y
:

R
o

o
f
S

c
r
e

e
n

 
M

a
n

u
f
a

c
t
u

r
i
n

g
 
I
n

c
.

3
4

7
 
C

o
r
a

l
 
S

t
r
e

e
t

S
a

n
t
a

 
C

r
u

z
,
 
C

A
 
9

5
0

6
0

JAB

JAB

1013/RMI # 2077

C
O

N
S

T
R

U
C

T
I
O

N
 
D

O
C

U
M

E
N

T
S

J
A

B
0
5
/
1
1
/
1
1

O
S

H
P

D
 
2
N

D
 
R

O
U

N
D

 
B

A
C

K
C

H
E

C
K

J
A

B
1
0
/
2
4
/
1
1

Je
nn

ife
r 

Be
nn

et
t  

P.
E.

12
0 

Re
d

w
o

o
d

 S
t

Sa
nt

a 
Cr

uz
, C

A
 9

50
60

(8
31

) 
42

0-
05

29
jb

en
ne

tt
p

e@
gm

ai
l.c

o
m

EFORP
DERETSI

GE R

RE
EN

I
GN

E

LANOISS

CAL I FORN
FOETAT

S

I A

T
TE

NN

EB.AREFI
NNEJ

C I V I L

No. C 70830

Exp. 6/30/11

NOTES:

1. TUBE FRAME O.C. SPACING SHALL NOT BE EXCEEDED AND SHALL

REMAIN WITHIN THE TUBE FRAME DETAIL CONSTRAINTS UNLESS

NOTED OTHERWISE ON THE PLAN.

2. EVALUATION OF EXISTING ROOF FRAMING AND BUILDING FOR

NEW MECHANICAL EQUIPMENT AND SCREEN LOADS SHALL BE

PROVIDED BY OTHERS. WIND LOAD REACTIONS AT BASE SUPPORTS

ARE LISTED ON FRAME SPECIFICATIONS

.

1

1

mfg
Text Box
2

mfg
Text Box
2


